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% |f the variable is on the left
~ the Sign will point to the oivection
~ that needs fo be Shaded
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[ A bag of tomatoes weighs more than § pounds. What
| are possible weights of the bag?
| e posse MARL TR . 50016 200 1S
| since you know the bag of tomatoes weighs more
| than § pounds you can write it as the inequality x > 5.

‘

| You can also use a number line to show the infinite

| amount of solutions.
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Use the medicine bottle to find possible

temperatures at which the medicine
should be stored.

What inequality would represent this
information? X 20

The solutions can be represented on the number line
below:

12 13 14 15 16 17 18 19 20 21

Ali needs at least 7 feet of ribbon
for a craft. Lef p represent the
length, in feet of the ribbon All
needs. Write the inequality, and |
then show the inequality on a
number line.
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In Alaska the maximum winter |
temperature is -4 C. Let y
represent the temperature in
Alaska. Write the inequality, and
then show the inequality on a
number line.
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